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is the test of the Short term liqu

Stock turnover ratio

b.
c. Operating ratio
Current ratio

d.

a. Debt Equity ratio
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Paper / Subject Code: 78010 / Management Accounting (Introduction to Manage:ﬂgiit;\cca _

7. When Current assets are less than Current liabilities then it lsrnh\led%\ 2
Working Capital. & &
a. Gross %
b. Positive
c. Negative
d. Zero.

8. Purpose of management accounting is to
a. Ascertain Profit and Loss of Busmessf
b. Know Financial Status of Busmess." '
¢. Both a) and b) o ;

9. Accounting ratios can be expressed in
a. Pure number
b. Percentage
¢. Times
d. Pure number or Percentage or Times.

(07)

a) Managemem At:;ountlng i :)\femcg‘l analysm

b) Fmahq_ié.l\Accountmg\\ ¢ ‘le,oﬁleed Assets

c) Déthqmtx‘,I{;atmf- N LR 111.( @blned ratio

d). Debtors' I'umbverRatro IR '-'j_v lange sheet Ratio

D) Gmsm‘Ratm O :.:ioﬁ t Assets

- B Invhsﬁne.pt&‘cl‘lmﬁy T -;*' \ <. | wi.-~ Mandatogyin case of Companies

& Operatiig Activity . -~ - | vil.  Current Assets — Current Liabilitics
¢ h)_ Grosswa‘kih(gﬂnpxﬁl» “ &~ - il Horizontal Analysis
'_-Ji)"- -Caihﬁbu{i?&g"statgnx\éht | ix. Sale of goods

_Q Comrﬁgn.&m S‘tatement “‘,"‘ e X, Revenue ratio

‘ : L Xi.  Voluntary in case of Companies
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Q-2Following is the balance sheet of GAMA Itd. as at 31% March, ZOIQ =

Liabilities Rs. | Assets

Equity Share Capital 200000 | Machinery

General Reserve 140000 | Investments

10% Preference share capital 360000 | Stock

15% Debentures 240000 | Bills Receivable .

Trade Payables 244000 | Trade recgivgﬁlg" :

Bank Overdraft 40000 | Cash AtBank .-"

Provision for tax 36000 Proﬁ:ﬁ:ﬁhﬁs&
1260000 AR vf”

Additional Information NSRS “7'

Sales for the year Rs.1400000; Gross Profit — 25%%;1# Spening:

You are required to calculate the following raﬁoé"(a‘ﬁe éai" n\gxkf\er‘j‘wm_ nce Sheet). =7
(i) Acid test ratio (i) Stock turnover ratio’ (ui) lf)apjﬁa " qg: "\(}) rOprietary ratio
& ;‘Oﬁ—“
Q-2Following is the profit and loss acbe‘unt GTA\BCjtd for the‘ycape\r_r
Particulars O Rerk I‘artit?ulnrs
To Opening Stock RN 209000 »B}*Sﬁlgs ' :
o { Credit & =0 = “9000‘00 3
£ SHRTORE 2 Cash:' = 350060 1250000
To Purchases e F A8 $-':5;IBQOD By{dﬁisiqgsfgdg e 300000
To Wages k 125000 | By di viﬁend“ccc,ewcd. t 5500
To Factory expenses . ‘_\. - O00 |5 S SO
To Office Salaries & £ .= C | 5/ P6000Q | - -
To General expeqs\é S 009 s T
To Selling expenses<” &~ L (8 _.
To Deprecraumrhamm -:'_;12“’59- V. %%
To Prowsmnfar@xa&mf > &) =5 0250 TSN
To Transfer to. Gefnetaﬁ&‘me’ L “.:-f(}bﬂﬁ._(;}f TSN
To net prof't P O | ‘1‘49,()00 AT N
Y A 1555500 SES 1555500

Additional infonhgt@n‘\ =S \’“,h PN

Opening balance’ ufbtbr*oms Rs. 230000 and at the end of the fear is Rs. 220000.

3 Whermﬂmd?ow&&&gﬂ‘lmng is Ks ISSOOO and at the end of the year is Rs. 185000
“Youare. reqmred%q‘cohﬁumtﬁ@*fdﬂow:ng‘(aﬂer preparing Vertical Income Statement):
_--'(a) Gross Proﬁt ratlo {h) me'atmg\Ratio '(d) Creditors Turnover Ratio and

-:Q 3 The Balancésheeto?MZS V. rgour Ltd as on 31 March, 2016 And 31% March, 2017 were

& as follows as) \7_ (15)
LIABILIT_IES IR 31-03-17 ASSETS 31-03-16 | 31-03-17
o AL N ;\\\ : Rs. Rs. Rs.
Equlty share oaplfa] S 3,00,000 3,00,000 | Land & buildings 1,50,000 | 1,46,250
~| General reserve — _\-_'-‘ 1,00,000 | 1,00,000 | Plant & machinery 3,00,000 | 3,22,750
| Profit & loss gccoun‘f_ & - 63,000 | Furniture & fixtures 60,000 40,000
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[ 12% debentures 1,90,000 [ 1,00,000
Creditors 60,000 | 1.40,000
Outstanding expenses 20,000 | 20,000

| Provision for tax 1,10,000 | 1,00,000
Proposed equity dividend 30,000 35,000

Total 8,10,000 | 8,58,000

Additional informations: y
a) New machinery costing Rs. 80,000 was bo 1d g
18,000 (WDV Rs. 6000) was sold for Rs. 41,000, 7 - 80

b) Tax paid during the year Rs. 90000 §';i”;;;»‘§,§ \e“

¢) Dividend proposed during the year Ig%‘of Eg
Prepare cash flow statement as per as-3 (use»mdirecmiq‘thbd)

Q.3 A manufacturing unit wants to estim\ht&thétriﬁorlqng\ﬂéﬁﬁl% déqﬁ‘i,fem'emsﬁf ihe year
2017 for 24000 units. Its cost s:mc‘turc is as:ﬁ;\l':‘o ""Mq_t&'m\l\é:lgs 150‘ Wageé"Rs 120,
Factory overheads Rs. 40, Adm tﬂrsﬁxtwénvérttéadsdlé 30“ Sgﬂ" ﬂ%jﬂ-lce 1s 10% of

sales.

a) Materia . t' a montkcuhsumpnon aﬂd;”ﬁmshed igcmdsegﬁgj to one and half

Lagifn‘PaS’men, : ” ¥ a o
f) Cash o hand is Rszﬁaﬁoo; q ¢ :@ RS
g) xOﬁhebutput 175t ofthg outpﬂ o)

& x_YQu a}e (etlulred to estimate theafn u "WGrkmg capital required for the year

Q. ?f Th&“&?}cmmfaﬁt 6}\& Prefty Ltﬂ subm fts\the f(ﬂle\«vm@ng and Profit and Loss a/c for
_.flxeyear%nded il"Mﬁsch‘EQ]fg‘ = (15)
: ¥ ! S ;" Rs Income Rs
- [" 770,000 | By Sales 16,60,000
e 15005000 By Closing Stock 1,60,000
ST T 2,50,000
S ORI T 18.20,000 18,20,000
2% ﬁ‘Aximgﬁ‘ist?ahv Bxpeﬂses 1" 36,000 | By Gross Profit 2,50,000
: TGSelhng EXpBgSés G | 74,000 | By Interest 10,000
| ToTax-Provision s« .~ . = 40,000
OS¢ Tngpnsed,DW:dénd 16,000
s TorNet Prof’t A Sy 94,000
BN SOOI CR 2,60,000 2,60,000
ot _'You arb askecf tﬂ p?eparé a Commonsize statement and offer your comments.
. -.-Q 4XYZ Ltd provides you following balance sheets. Rearrange them in vertical form and
._'prepare Comparatwe statement and offer your comments: (15)
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